Chemistry 11
Stoichiometry Problems




Name ___________________________

Chemistry 11
Stoichiometry Warmup
Complete the following problems, including ALL UNITS and showing ALL WORK on a separate piece of paper.

1.
Given the following balanced equation, answer the questions following it:

2NF3(g)  +  3H2(g)  (   1N2(g)   +  6HF(g)
a. Balance the equation. 
b. If 15.008 L of hydrogen gas are consumed at STP, how many moles of HF would
be formed? 1.34 mol HF


c. In order to produce 3.50 grams of N2, how many Litres of NF3 at STP would be required? 5.60 L
 NF3


d. If 188.608 L of N2 are formed at STP, how many Litres of HF would be produced at
the same time? 1130 L HF

e. If 482.8 g of NF3 are consumed, how many molecules of H2 would be consumed at
the same time? 6.14 x 1024 H2



f. If 2.7692 x 1023 molecules of HF are produced, what volume of N2 would be produced at STP? 1.72 L N2 
2.   Given the following balanced chemical equation, answer the question below it.

            MgCO3 (s)     +    2HCl (aq)    (   CO2 (g)   +   H2O (l)    +    MgCl2(aq)
a. What mass of MgCO3 will react completely with 25.0 mL of 3.0 M HCl? 3.2g MgCO3


b. Calculate the volume of 0.60 M HCl which would be needed to react completely with 122.235 grams of magnesium carbonate. 4.9 L HCl


g. If 150.0 mL of 0.50 M HCl reacts with an excess of MgCO3, what volume of CO2
would be produced at STP? 0.84 L CO2






